
>Ldfg\ k|d'v k|zf;sLo clws[t Ho",       ldlt M–================= 

ufpF sfo{kflnsfsf] sfof{no, 

s[lif ljsf; zfvf,g/xf l;/xf . 
 

ljifo M– pv' pTkfbs s[ifs btf{ u/L kfpF . 

dxf]bo, 

 k|:t't ljifodf d}n] lgDgfg';f/sf] hUufdf pv' v]lt u/]sf] x'Fbf pv' ls;fgnfO{ cg'bfg lbg] ;DaGwL 
sfo{ljlw, @)&% sf] bkmf $ -s_ adf]lhd cf=j=@)&&÷)&* sf nflu o; :yfgLo txsf] pv' v]lt ug{] 
s[ifsx?sf] nfut ljj/0fdf ;dfj]z x'gsf nflu btf{ u/L lbg' x'g cg'/f]w 5 . 

pv' v]lt ljj/0f 
hUufsf] 
xsef]u 
lsl;d 

j8f 
sfof{no 

j8f g+= lstf g+= If]qkmn     
-lj3f s§f_ 

Kn6 
g+= 

rf}xbL rf/ lsNnf 
k'= k= p= b= 

          

hDdf          
 

s[ifssf] ljj/0f  

s[ifssf] gfd M– 7]ufgf M– 

lktfsf] gfd M– a}+s vftf g+= M– 

afh]sf] gfd M– a}+ssf] gfd zfvf M– 

df]afO{n g+= M– gf=k|f=g+M– 
 

;+nUg sfuhftx? M hUuf wlg k|df0fkq,hUuf s/f/gfdf,gful/stf k|df0fkq / a}+s vftfsf] k|df0fkqsf] 
k|ltlnkLx? M– 

                     s[ifssf] gfd M– 

                    s[ifs sf]8 g+=M– 

pv'                    cfk'lt{ ug{] lrgL ldn M– 

                    s[ifssf] b:tvt M– 

sfof{no k|of]hgsf] nflu  
s[ifssf] gfd M– 
btf{ g+=M– 
sd{rf/Lsf] b:tvt M– 
ldlt M– 


